100

080

F16.704-010

FIG.301 T oY IL—L

070

S
s

RuES| B & B S # 8 & K frER Bl amem | @ =
Key No Parts No Parts Name ALL 5 Application Description Remarks
010 [ZTCMS80 2514 000| T IL—LA L 1 RILE—
020 |ZTCMS80 2515 000| T2 IL—L R 1 RILE—
030 [ZTCMS80 2516 000| Af>TL—L L 1 RILK—
040 |ZTCMS80 2517 000| A (> TL—L R 1 RILE—
050 |ZTCM80 2505 000| RbwS— L L0 OO0 OO S U FOSSOS oo NOSSS OO HOU OO
060 [ZTCMS80 2518 000| EYF (7 h4) 1 RILE—
070 |ZTF154 0110 025 | 7R)Lk 4 M10 x 25
080 |ZTF154 0110 020 | RJL+ 6 M10 x 20
090 |ZTF154 0110 035 | 7RJLk 8 M10 x 35
100 |zTOM80 2512 001 A L L N 0 N AESSSSOSOOOOOs OSSNSO
110 |F301 0112 000 IS5 FYR 1 M12
120 0350 0151 226 A 1 M12
130 |A360 0101 202 Sy 1 M12
140 |ZTCMS80 2519 000| Ry o FL—k 1 RILE—
150 |F154 0108 016 ALk 4 M8 X 16




